
1

1

2

2

3

3

4

4

D D

C C

B B

A A

Title

Number RevisionSize

A

Date: 5/24/2011 Sheet    of
File: C:\Users\..\ConcentratorLegacyPD1.SchDocDrawn By:

D1100982 1

Controls Concentrator Legacy PD

Daniel Sigg
1 1

1

2

3

4

5

6

7

8

9
11

10

J3

DB9M

1

2

3

4

5

6

7

8

9
11

10

J2

DB9M

1
20
2
21
3
22
4
23
5
24
6
25
7
26
8
27
9
28
10
29
11
30
12
31
13
32
14
33
15
34
16
35
17
36
18
37
19

38

39

J1

DB37M

1
20
2

21
3

22
4

23
5

24
6

25
7

26
8

27
9

28
10
29
11
30
12
31
13
32
14
33
15
34
16
35
17
36
18
37
19

38

39

J4

DB37F

 

DCMON2_P

DCMON3_P

DCMON4_P

DCMON1_P

TEMP1_P

TEMP2_P

TEMP3_P

TEMP4_P

STATUS1
STATUS2
STATUS3
STATUS4

OK

ENABLE1
ENABLE2
ENABLE3
ENABLE4

VC1
VCRET1
VC2

VC3

VC4

VCRET2

VCRET3

VCRET4

2 1

B1

Bracket

GND

NL
R1

100n
C1

B1

H1 #4 screw, 3/8"

H3 #4 lock washer

91113A005
McMaster-Carr

H4 #4 lock washer

H5 #4 nut

90480A005
McMaster-Carr

H6 #4 nut

90272A108
McMaster-Carr

H2 #4 screw, 3/8"

B
1

B
2

B
3

B
4

2 1

B2

Bracket

GND

NL
R2

100n
C2

B2

2 1

B3

Bracket

GND

NL
R3

100n
C3

B3

2 1

B4

Bracket

GND

NL
R4

100n
C4

B4

H7 #4 screw, 3/8"

H9 #4 lock washer

91113A005
McMaster-Carr

H10 #4 lock washer

H11 #4 nut

90480A005
McMaster-Carr

H12 #4 nut

90272A108
McMaster-Carr

H8 #4 screw, 3/8"

H13 #4 screw, 3/8"

H15 #4 lock washer

91113A005
McMaster-Carr

H16 #4 lock washer

H17 #4 nut

90480A005
McMaster-Carr

H18 #4 nut

90272A108
McMaster-Carr

H14 #4 screw, 3/8"

H19 #4 screw, 3/8"

H21 #4 lock washer

91113A005
McMaster-Carr

H22 #4 lock washer

H23 #4 nut

90480A005
McMaster-Carr

H24 #4 nut

90272A108
McMaster-Carr

H20 #4 screw, 3/8"

LGND

LGND

LGND

DCMON1_N

DCMON2_N

DCMON3_N

DCMON4_N

TEMP1_N

TEMP2_N

TEMP3_N

TEMP4_N

WFS1PD1_P
WFS1PD1_N
WFS1PD2_P
WFS1PD2_N
WFS1PD3_P
WFS1PD3_N
WFS1PD4_P
WFS1PD4_N

WFS2PD1_P
WFS2PD1_N
WFS2PD2_P
WFS2PD2_N
WFS2PD3_P
WFS2PD3_N
WFS2PD4_P
WFS2PD4_N

DCMON2_P

DCMON3_P

DCMON4_P

DCMON1_P

TEMP1_P

TEMP2_P

TEMP3_P

TEMP4_P

DCMON1_N

DCMON2_N

DCMON3_N

DCMON4_N

TEMP1_N

TEMP2_N

TEMP3_N

TEMP4_N

WFS1PD1_P
WFS1PD1_N
WFS1PD2_P
WFS1PD2_N
WFS1PD3_P
WFS1PD3_N
WFS1PD4_P
WFS1PD4_N

WFS2PD1_P
WFS2PD1_N
WFS2PD2_P
WFS2PD2_N
WFS2PD3_P
WFS2PD3_N
WFS2PD4_P
WFS2PD4_N

OK
LGND


